
Hinweis für Deutschland: Diese Bedienungsanleitung muss aus Haftungs- und Informationsgründen unbedingt den  
Fahrzeugbedienungsanleitungen beigelegt werden.

RECARO P1300GT
Bedienungsanleitung / Operating Instructions / Instructions d’utilisation / 
Instrucciones de uso / 操作说明书 / 取扱説明書



2

 

DE – Bedienungsanleitung.......................................................................................6

EN – Operating instructions................................................................................... 11

FR – Instructions d’utilisation................................................................................16

ES – Instrucciones de uso......................................................................................21

ZH – 操作说明书........................................................................................................26

JA – 取扱説明書........................................................................................................31



3

1

2

3

4
4

5 6

10 7

8

9

7308864 

A

B

12

11

11

7221391 C

15

15

27

49
38

7308864 

10

D

E1

610

7308864 E2



4

813

7308864 

711

711

7221391 

E3

F1

813

7221391 F2

910 / 12

6

7
1

10

7
1

6

7308864 

12

11

1

6

11

1
7221391 

G

H



5

5

15

15

I

J

10 / 12

106

23 Nm23 Nm

K

L

M

1616

16161515

1414

N



6

DE – Bedienungsanleitung

1.	 Allgemeine Informationen

1.1.	 Einführung
Mit der RECARO Rennschale haben Sie sich für 
eine qualitativ hochwertige Rennschale entschie­
den, die sowohl Sicherheit als auch Komfort im 
Rennsport bietet. 

1.2.	 Symbole und Signalwörter
In dieser Anleitung werden folgende Symbole und 
Signalwörter verwendet:

gefahr

Hier droht eine unmittelbare Gefahr, die zu 
schweren Verletzungen oder zum Tod führt.

Warnung

Hier droht eine mögliche Gefahrensituation, die 
zu schweren Verletzungen oder zum Tod führen 
kann.

Vorsicht

Hier droht eine möglicherweise gefährliche 
Situation, die zu leichten oder geringfügigen 
Verletzungen oder zu Sachschäden führen kann. 

Hinweis

Hinweise unbedingt beachten!
Bei Nichtbeachtung bestehen folgende Gefahren:
•• Beschädigung von Produkt oder Produkt­

umgebung
•• Einschränkung der Funktionalität des Produkts
•• Einschränkung oder Verlust der Sicherheit des 

Produkts

Zusätzlicher Hinweis zum besseren Ver­
ständnis

2.	 Allgemeine Sicherheitshinweise

2.1.	 Haftungsausschluss
Wenn Sie Ihre RECARO Rennschale nicht entspre­
chend dieser Anleitung bedienen oder die RECARO 
Rennschale oder die Einbauten verändern, ist die 
Haftung von RECARO ausgeschlossen, soweit 
gesetzlich zulässig.
Jede Veränderung oder Fehlbedienung der 
RECARO Rennschale hat zudem den Verlust der 
Gewährleistungsansprüche zur Folge.

2.2.	 Sachgemäßer Einbau
Eine nicht ordnungs- und sachgemäß eingebaute 
Rennschale kann bei Kollisionen/Unfällen zu er­
heblichen Gefährdungen von Gesundheit, Leib und 
Leben führen.

�� Beachten Sie diese Bedienungsanleitung, ins­
besondere die Sicherheitshinweise.

�� Bewahren Sie diese Bedienungsanleitung für die 
gesamte Gebrauchsdauer der Rennschale auf.

�� Machen Sie diese Bedienungsanleitung dem 
Fachpersonal jederzeit zugänglich.

Inhaltsverzeichnis

1.	 Allgemeine Informationen................................ 6

2.	 Allgemeine Sicherheitshinweise....................... 6

3.	 Installation........................................................ 8

4.	 Bedienung...................................................... 10

5.	 Reinigung und Pflege..................................... 10



7

2.3.	 Bestimmungsgemäße Verwendung
�� Die Rennschale RECARO P1300GT darf nur 

zusammen mit den entsprechend freigeprüften 
RECARO Adaptern 7221391 oder 7308864 im 
Rennsport eingesetzt werden.

�� Für die Rennschale RECARO P1300GT sowie 
für die RECARO Adapter 7221391 und 7308864 
liegt keine ABE vor (Allgemeine Betriebserlaub­
nis, erforderlich für den Betrieb im öffentlichen 
Straßenverkehr in Deutschland). Rennschalen 
und Adapter sind nicht im öffentlichen Straßen­
verkehr im Bereich der StVZO (Straßenver­
kehrs-Zulassungs-Ordnung, Grundlage für die 
Regelung des deutschen Straßenverkehrs­
rechts) zugelassen. 
Rennschale und Adapter sind ausschließlich für 
den Einsatz im Motorsport konzipiert.

�� Die Rennschale RECARO P1300GT darf ma­
ximal so lange verwendet werden wie auf dem 
Homologations-Aufkleber angegeben  
(Not valid after: xxxx).  
Nach diesem Datum dürfen die Rennschalen 
und die dazugehörigen Adapter auf keinen Fall 
in einem Fahrzeug weiter verwendet werden. 

�� RECARO Rennschalen, die unfallbedingten Be­
lastungen (Rennunfall oder Kollision) ausgesetzt 
waren, dürfen nicht weiter verwendet werden.

2.4.	 Qualifikation des Personals
Ein- und Ausbau von Rennschalen dürfen nur von 
autorisiertem Fachpersonal durchgeführt werden. 
Dies gilt auch für den vorherigen Ausbau von 
Seriensitzen, die mit Seitenairbag im Sitz und/oder 
pyrotechnischem Gurtstraffer ausgestattet sind.

2.5.	 Einbauvorschriften
Die Befestigung von Rennschale und Adapter im 
Fahrzeug und die damit verbundenen baulichen 
Veränderungen am Fahrzeug müssen nach den 
Vorgaben des jeweils nationalen Motorsport­
verbands (in Deutschland: DMSB – Deutscher 
Motorsport Bund) oder der FIA (Fédération Inter­
nationale de l‘automobile) gemäß der geltenden 
Bestimmungen in der jeweiligen geltenden Fassung 
vorgenommen werden (DMSB - Automobilsport 
Handbuch: siehe Allgemeine Bestimmungen und 
Erläuterungen zu Sicherheitsvorschriften (FIA- und 
DMSB-Gruppen) 3.3 / FIA - International Sporting 
Code: siehe Appendix J - Art. 253, Art. 16).

2.6.	 Bauliche Veränderungen
Bauliche Veränderungen und Verwendung von nicht 
zugelassenen Bauteilen können die Sicherheit und 
Funktionsfähigkeit gefährden.

�� Verwenden Sie zum Einbau der RECARO 
Rennschale nur Original-Bauteile von RECARO.

�� Verändern Sie die Rennschale nicht, sonst er­
lischt die Zulassung.

�� Bringen Sie keinerlei zusätzliche Teile (wie 
Getränkehalter, Feuerlöscher u.ä.) an der Renn­
schale an.

2.7.	 Restrisiken
Bei mehrmaliger Verwendung der mitgeliefer­
ten mikroverkapselten Schrauben können diese 
brechen oder sich lösen. Dadurch kann sich unter 
Umständen die Rennschale bei Unfällen aus der 
Verankerung lösen und es besteht Gefahr für Leib 
und Leben.

�� Verwenden Sie für die Montage der Renn­
schale ausschließlich die mitgelieferten mikro­
verkapselten Schrauben.

�� Verwenden Sie die mitgelieferten mikro­
verkapselten Schrauben nur für einen ein­
maligen Verschraubungsvorgang. 

�� Ziehen Sie alle Schrauben mit dem ange­
gebenen Drehmoment an.



8

3.	 Installation

Hinweis

Das Zusammenspiel von Rennschale und Adapter 
ist maßgebend für das Verhalten des Gesamt­
systems Sitz. 

�� Montieren Sie die Rennschale RECARO 
P1300GT nur zusammen mit den entspre­
chend freigeprüften RECARO Adaptern 
7221391 oder 7308864. 
Nur so ist die notwendige Sicherheit im Renn­
sport gegeben.

3.1.	 Positionierung der Rennschale im Fahr-
zeug

�� Wählen Sie die für Sie angenehmste und zur 
Bedienung des Fahrzeugs sicherste Sitzposition: 
Sie müssen die Lenkradkranz-Oberkante voll 
umfassen können, ohne mit dem Rücken aus 
dem Sitz abzuheben. 
Bei voll durchgedrückter Kupplung muss Ihr Knie 
noch leicht angewinkelt sein.

�� Achten Sie auf die korrekte Montage der Rück­
haltesysteme und des Überrollkäfigs (siehe 
Einbauanleitung der Hersteller).

3.2.	 Lieferumfang
�� Prüfen Sie vor dem Einbau den Lieferumfang 

auf Vollständigkeit.

Rennschale (Bild A)
(1)	 Rennschale, 1 Stk.
(2)	 Sitzkissen hinten, 1 Stk.
(3)	 Sitzkissen vorne, 1 Stk.
(4)	 Austauschbare Pads, 9 Stk.
(5)	 Montagehilfe, 2 Stk.
(6)	 Schraube M8x25, 10.9, 4 Stk.

Adapter 7308864 (Bild B)
(7)	 Adapter, 1 Stk.
(8)	 Transportsicherung, 1 Stk.
(9)	 Längenverstellhebel, 1 Stk.
(10)	Schraube M10x20, 10.9, 4 Stk.

Adapter 7221391 (Bild C)
(11)	 Adapter, 2 Stk.
(12)	Schraube M10x20, 10.9, 4 Stk.

3.3.	 Montageablauf

Die zugehörigen Zeichnungen finden Sie 
auf den Seiten 3 bis 5. 

Adapter im Fahrzeug montieren

Hinweis

Die Befestigung der Adapter im Fahrzeug und die 
damit verbundenen baulichen Veränderungen am 
Fahrzeug müssen nach den Vorgaben des jeweils 
nationalen Motorsportverbands oder der FIA 
gemäß der geltenden Bestimmungen in der jewei­
ligen geltenden Fassung vorgenommen werden.

Montagehilfe montieren (Bild D)
�� Schrauben Sie beidseitig die Montagehilfe (5) in 

die Rennschale.

Adapter im Fahrzeug montieren

Adapter 7308864 (Bilder E1, E2)
1.	 Heben Sie den Adapter (7) mit der 

Transportsicherung (8) ins Fahrzeug. Der rote 
Längenverstellhebel (9) muss zur Tür zeigen.

2.	 Montieren Sie die Adapter (7) mit mindestens 
4 Schrauben M10, Festigkeitsklasse 10.9, 
im Fahrzeug. 
Anziehdrehmoment: 35 Nm.

3.	 Demontieren Sie die Transportsicherung durch 
Lösen der 4 Schrauben (10).

Adapter 7221391 (Bild F1)
�� Montieren Sie die beiden Adapter (11) mit 

mindestens 4 Schrauben M10, 
Festigkeitsklasse 10.9, im Fahrzeug. 
Anziehdrehmoment: 35 Nm.

Rennschale montieren
1.	 Fädeln Sie die Rennschale mit dem Stift (13) 

vorne am Haken des Adapters ein (Bild E3 bzw. 
F2).

2.	 Legen Sie die Sitzneigung durch Auswahl der 
vorderen Bohrungen (Bild G) fest. Fixieren Sie 
die Sitzneigung mit je 2 Schrauben 
M10x20 (10 bzw. 12) pro Seite (Bild H). 
Drehen Sie die Schrauben noch nicht fest!

3.	 Setzen Sie die Rennschale ab, bis die 
Montagehilfen auf den Adaptern aufliegen 
(Bild I).

4.	 Fixieren Sie die Rennschale im hinteren Bereich 
mit je 2 Schrauben M8X25 (6) pro Seite (Bild H). 
Drehen Sie die Schrauben noch nicht fest.



9

Montagehilfe demontieren (Bild J)
�� Entfernen Sie auf beiden Seiten die Montage-

hilfe (5) von der Rennschale (1).

Schlussmontage (Bild K)
�� Ziehen Sie alle 8 Befestigungsschrauben (6) und 

(10) bzw. (12) mit einem Anziehdrehmoment von 
23 Nm +2/–3 Nm fest.

Gefahr

Gefahr von schweren Verletzungen falls sich 
die Rennschale aus der Verankerung löst.

�� Verwenden Sie für die Montage der Renn­
schale ausschließlich die mitgelieferten mikro­
verkapselten Schrauben.

�� Verwenden Sie die mitgelieferten mikro­
verkapselten Schrauben nur einmal. 

�� Ziehen Sie alle Schrauben mit dem angegebe­
nen Drehmoment an.

3.4.	 Schutz am HANS-System anbringen  
(Bild N)

Hinweis

Beschädigung des Rennschalenbezugs durch 
HANS-System ohne Schutz!

�� Ohne angebrachten HANS-Schutz bestehen 
keinerlei Gewährleistungsansprüche.

�� Bringen Sie den werksseitig mitgelieferten 
Schutz (14) mit Hilfe der selbstklebenden Klett­
bänder (16) am HANS-System (15) an.  
Führen Sie dazu die Rückhaltebänder des 
HANS-Systems durch die dafür vorgesehenen 
Öffnungen am mitgelieferten Schutz. 

3.5.	 Austausch/Reinigung PAD-System 
(Bild L und M)

Gefahr

Gefahr von schweren Verletzungen durch 
falsch angebrachte Polster!

�� Entfernen Sie keine Polster in den vorge­
schriebenen Bereichen (Bild M).

�� In den auf Bild M markierten Bereichen 
MÜSSEN die von RECARO vorgesehenen 
Pads zu jeder Zeit angebracht sein.

Hinweis

Beschädigung der Rennschalen durch 
unsachgemäße Verwendung der Polster!

�� Verwenden Sie zur Polsterung nur Original-
Bauteile von RECARO.

�� Bringen Sie die Polster nur an den vorgesehe­
nen Stellen an (Bild L).

Die zugehörigen Zeichnungen finden Sie 
auf Seite 5.  

PADs austauschen
Um die Polsterung der Rennschale an die unter­
schiedlichen Bedürfnisse und Proportionen von 
diversen Rennfahrern anzupassen, werden für die 
Rennschalen RECARO P1300GT Pad-Kits in ver­
schiedenen Größen angeboten. Die serienmäßig 
verbauten Polster können in den entsprechenden 
Bereichen durch dickere oder dünnere Pads ersetzt 
werden.
1.	 Ziehen Sie das auszutauschende Pad kräftig 

vom Klettband ab.
2.	 Ersetzen Sie das Pad mit dem entsprechenden 

Polster Ihrer Wahl.

PADs reinigen
Alle Sitzkissen und Pads lassen sich zur Reinigung 
oder Nachpolsterung herausnehmen.

�� Ziehen Sie die Sitzkissen und Pads kräftig vom 
Klettband ab.

Die Sitzkissen und Pads können nun einfach gerei­
nigt oder ausgetauscht werden. Für Reinigungshin­
weise siehe Seite 10.



10

4.	 Bedienung
Sicherheitshinweise vor Fahrtantritt

gefahr

Lebensgefahr bei Einsatz einer beschädigten 
Rennschale im Fahrbetrieb! 

�� Prüfen Sie die Rennschale und Adapter vor 
jeder Benutzung sorgfältig auf Beschädigun­
gen wie Risse, Beulen, Dellen oder ähnliche 
Defekte. 

�� Wenn Sie eine Beschädigung feststellen, 
wenden Sie sich an eine Fachwerkstatt für 
Motorsport.

�� Bei sicherheitsrelevanten Beschädigungen 
ersetzen Sie die Rennschale sofort und stellen 
Sie sicher, dass die beschädigte Rennschale 
nicht wieder in einem Fahrzeug eingesetzt 
wird.

gefahr

Lebensgefahr bei Einsatz einer nicht mehr 
zugelassenen Rennschale! 

�� Verwenden Sie die Rennschalen maximal 
solange wie auf dem Homologations-Aufkleber 
angegeben (Not valid after: xxxx).

�� Nach diesem Datum dürfen die Rennschalen 
auf keinen Fall in einem Fahrzeug weiter ge­
nutzt werden.

Homologations-Aufkleber

gefahr

Lebensgefahr bei Einsatz einer Rennschale, 
die bei einem Unfall beteiligt war! 

�� Rennschalen, die unfallbedingten Belastungen 
(Rennunfall oder Kollision) ausgesetzt waren, 
dürfen nicht weiter verwendet werden. 

�� Stellen Sie sicher, dass die beschädigte Renn­
schale nicht wieder in einem Fahrzeug einge­
setzt wird.

5.	 Reinigung und Pflege
Hinweis

Die folgenden Reinigungs- und Pflegevorschlä-
ge sind unverbindliche Hinweise. RECARO 
übernimmt keine Haftung für diese Vorschläge.

�� Beachten Sie die Gebrauchsanweisung des 
jeweiligen Pflege- oder Reinigungsmittels.

�� Probieren Sie die Wirkungsweise eines Pflege- 
oder Reinigungsmittels zunächst an einer 
unauffälligen Stelle aus, bevor Sie den ganzen 
Sitz mit dem betreffenden Mittel bearbeiten.

5.1.	 Reinigung des Bezugs

Grundreinigung
�� Reinigen Sie den Bezug Ihrer RECARO Renn­

schale nach längerem Gebrauch mit einem 
handelsüblichen Trockenschaum-Reiniger. 
Dadurch wird der Bezug aufgefrischt und die 
Farben erhalten ihre ursprüngliche Leuchtkraft 
zurück.

�� Reinigen Sie immer die ganze Fläche und nicht 
nur einzelne Stellen. So vermeiden Sie un­
schöne Ränder.

�� Lassen Sie die Bezüge nach dem Reinigen 
mindestens 48 Stunden trocknen.

Entfernung von Schmutzflecken 
�� Entfernen Sie Schmutzflecken möglichst sofort.
�� Reinigen Sie den Bezug mit handelsüblichem 

Trockenschaum-Reiniger oder Feinwaschmittel.
�� Vermeiden Sie starkes Reiben mit wässrigen 

Lösungen, da sonst der Bezugsstoff aufgeraut 
wird.

5.2.	 Reinigung der Rennschale

Hinweis

Beschädigung der Rennschale durch 
Lösungsmittel!

�� Verwenden Sie kein Lösungsmittel (z. B. 
Waschbenzin) zur Reinigung der Rennschale.

�� Achten Sie darauf, dass die Rennschale nicht 
in Kontakt mit Lösungsmittel kommt.

�� Reinigen Sie die Rennschale mit einer milden 
Seifenlösung. Verwenden Sie dazu einen feuch­
ten Schwamm.



11

EN – Operating instructions

1.	 General information

1.1.	 Introduction
By choosing the RECARO racing shell, you’ve 
opted for a high-quality seat that provides both 
safety and comfort. 

1.2.	 Symbols and key words
The following symbols and key words are used in 
these instructions:

Danger

A direct danger that will result in serious injury or 
death.

Warning

A possibly dangerous situation that can result in 
serious injury or death.

Caution

A possibly dangerous situation that can result in 
minor injury or material damage. 

Notice

It is essential to obey notices!
If they are not obeyed, the following dangers 
remain:
•• Damage to the product or product surround­

ings
•• Limitation of the product's functionality
•• Limitation or loss of the product's safety

Additional notice for better understanding

2.	 General safety instructions

2.1.	 Exclusion of liability
If you do not use your RECARO racing shell as 
described in these instructions or if you modify the 
RECARO racing shell or the fittings, RECARO shall 
accept no liability insofar as is permitted by law.
Any modification to or misuse of the RECARO 
racing shell shall also invalidate the warranty.

2.2.	 Correct installation
An incorrectly installed racing shell can pose a 
significant risk to health, life and safety in the event 
of a collision or accident.

�� Follow these operating instructions, especially 
the safety instructions.

�� Keep these operating instructions for the entire 
duration of the racing shell’s service life.

�� Keep these operating instructions accessible to 
specialist staff at all times.

Contents

1.	 General information.........................................11

2.	 General safety instructions..............................11

3.	 Installation...................................................... 13

4.	 Use................................................................. 15

5.	 Cleaning and care.......................................... 15



12

2.3.	 Correct use
�� The RECARO P1300GT racing shell may only 

be used in motor sports in conjunction with 
the independently tested RECARO adapters 
7221391 or 7308864.

�� There is no ‚ABE‘ general operating permit 
(necessary for operation on public roads in Ger­
many) for the racing shell RECARO P1300GT, 
or for the RECARO adapters 7221391 and 
7308864. Racing shells and adapters are 
not approved for use on public roads under 
the German road traffic licensing regulations 
(StVZO), the basis for regulating road traffic law 
in Germany. 
The racing shell and adapter are designed solely 
for use in motor sports.

�� The racing shell RECARO P1300GT must not 
be used after the date shown on the approval 
sticker (Not valid after: xxxx).  
After this date, the racing shells and the corre­
sponding adapters may not continue to be used 
in a vehicle under any circumstances. 

�� RECARO racing shells that have been subjected 
to the stresses of an accident (racing accident or 
collision) must no longer be used.

2.4.	 Staff qualification
Only authorised experts may install and remove 
racing shells. This also applies to the prior removal 
of standard seats that are fitted with a side airbag in 
the seat and/or pyrotechnic belt tensioners.

2.5.	 Installation instructions
Securing of the racing shell and the adapter in the 
vehicle and the related structural modifications to 
the vehicle must be done in accordance with the 
specifications of the relevant national ASN (Autorité 
Sportive Nationale) or the FIA (Fédération Interna­
tionale de l‘automobile) as per the respective appli­
cable version of the regulations that apply.

2.6.	 Structural alterations
Structural alterations and the use of unapproved 
components can jeopardise safety and functional 
capability.

�� When installing the RECARO racing shell, use 
only original components from RECARO.

�� Do not modify the racing shell, or its homologa­
tion will be rendered void.

�� Do not fit any additional parts (such as bever­
age holders, fire extinguishers etc.) to the racing 
shell.

2.7.	 Residual risks
The supplied micro-encapsulated screws can break 
or come loose if they are re-used several times. 
In some circumstances, this can cause the racing 
shell to become detached from its anchoring in the 
event of an accident, and thus present a danger to 
life and physical condition.

�� Use only the supplied micro-encapsulated 
screws when installing the racing shell.

�� Use the supplied micro-encapsulated screws 
only once. 

�� Tighten all screws with the specified torque.



13

3.	 Installation

Notice

The interplay between the racing shell and the 
adapter is crucial to how the entire seat system 
behaves. 

�� Mount the RECARO P1300GT racing shell 
only together with the independently tested 
RECARO adapters 7221391 or 7308864. 
Only this provides the necessary safety in 
motor sports.

3.1.	 Positioning the racing shell in the vehicle
�� Select the most comfortable seat position for 

yourself that is safest for driving the vehicle: 
You must be able to completely hold the top 
edge of the steering wheel without lifting yourself 
out of the seat with your back. 
Your knee must still be slightly angled when the 
clutch or brake pedal is fully pressed.

�� Make sure that the restraint systems and 
the roll cage are correctly installed (see the 
manufacturer‘s installation instructions).

3.2.	 Scope of delivery
�� Check the scope of delivery for completeness 

before installation.

Racing shell (Figure A)
(1)	 Racing shell, 1 ea.
(2)	 Back seat cushion, 1 ea.
(3)	 Front seat cushion, 1 ea.
(4)	 Replaceable pads, 9 ea.
(5)	 Mounting aid, 2 ea.
(6)	 Screw M8x25, 10.9, 4 ea.

Adapter 7308864 (Figure B)
(7)	 Adapter, 1 ea.
(8)	 Transport lock, 1 ea.
(9)	 Length adjustment lever, 1 ea.
(10)	Screw M10x20, 10.9, 4 ea.

Adapter 7221391 (Figure C)
(11)	 Adapter, 2 ea.
(12)	Screw M10x20, 10.9, 4 ea.

3.3.	 Installation sequence

Refer to Pages 3 to 5 for the associated 
drawings. 

Mounting adapters in the vehicle

Notice

The adapters must be secured in the vehicle 
and the associated structural modifications to 
the vehicle must be done in accordance with the 
stipulations of the respective national motor sports 
association  or of the FIA and as per the applicab­
le version of the regulations that apply.

Fitting the mounting aid (Figure D)
�� Screw the mounting aid (5) into the racing shell 

on both sides.

Mounting adapters in the vehicle

Adapter 7308864 (Figures E1, E2)
1.	 Lift the adapter (7) with the transport lock (8) into 

the vehicle. The red length adjustment lever (9) 
has to point to the door.

2.	 Mount the adapters (7) in the vehicle using at 
least four M10 screws, strength class 10.9. 
Tightening torque: 35 Nm.

3.	 Dismantle the transport lock by loosening the 4 
screws (10).

Adapter 7221391 (Figure F1)
�� Mount the two adapters (11) in the vehicle using 

at least four M10 screws, strength class 10.9. 
Tightening torque: 35 Nm.

Mounting the racing shell
1.	 Thread the racing shell with the pin (13) at the 

front in the hook of the adapter (Figures E3 and 
F2).

2.	 Define the seat angle by selecting the front holes 
(Figure G). Fix the seat angle using 2 screws  
M10x20 (10 and 12) on each side (Figure H). 
Do not tighten the screws yet!

3.	 Lower the racing shell until the mounting aids 
are positioned on the adapters (Figure I).

4.	 Fasten the racing shell in the rear section with 2 
screws M8x25 (6) on each side (Figure H). Do 
not tighten the screws yet.



14

Removing the mounting aid (Figure J)
�� Remove the mounting aid (5) from the racing 

shell (1) on both sides.

Final mounting (Figure K)
�� Tighten all 8 fastening screws (6) and (10) or 

(12) with a tightening torque of  
23 Nm +2/–3 Nm.

Danger

Danger of serious injury if the racing shell 
becomes detached from its anchoring.

�� Use only the supplied micro-encapsulated 
screws when installing the racing shell.

�� Use the supplied micro-encapsulated screws 
only once. 

�� Tighten all screws with the specified torque.

3.4.	 Fitting the protector on the HANS system 
(Figure N)

Notice

The racing shell cover can be damaged by the 
HANS system without a protector!

�� No warranty claims will be possible without the 
HANS protector fitted.

�� Fit the factory-supplied protector (14) onto the 
HANS system (15) using the self-adhesive 
Velcro fasteners (16).  
To do this, guide the restraining straps of the 
HANS system through the openings provided for 
that purpose on the supplied protector. 

3.5.	 Replacing / cleaning the PAD system 
(Figures L and M)

Danger

Incorrectly fitted cushions can cause serious 
injury!

�� Do not remove any cushions in the stipulated 
areas (Figure M).

�� The pads stipulated by RECARO MUST be 
fitted in the areas marked in Figure M at all 
times.

Notice

Incorrect use of the cushions can damage the 
racing shells!

�� Use only original RECARO components for the 
upholstery.

�� Fit the cushions only in the locations provided 
(Figure L).

Refer to Page 5 for the associated dra-
wings.  

Replacing pads
RECARO P1300GT pad kits in various sizes are 
available to adapt the upholstery of the racing shell 
to the various needs and proportions of different 
racing drivers. The cushions fitted as standard can 
be replaced in the corresponding areas by thicker 
or thinner pads.
1.	 Pull the pad being replaced firmly off the Velcro 

fastener.
2.	 Replace the pad with the corresponding cushion 

of your choice.

Cleaning pads
All seat cushions and pads can be removed for 
cleaning or reupholstering.

�� Pull the seat cushions and pads firmly off the 
Velcro fastener.

The seat cushions and pads can now be easily 
cleaned or replaced. See Page 15 for cleaning 
instructions.



15

4.	 Use
Safety instructions before you start driving

Danger

There is a danger to life if a damaged racing 
shell is used when the car is driven! 

�� Carefully inspect the racing shell and the 
adapter for damage such as cracks, bumps, 
dents or similar defects before every use. 

�� If you find any damage, consult a specialist 
motor sport workshop.

�� If there is damage that can affect safety, re­
place the racing shell immediately and make 
sure that the damaged racing shell will not be 
put back into a vehicle.

Danger

Danger to life if a racing shell is used that is 
no longer approved! 

�� Use the racing shells for no longer than is 
stated on the homologation sticker  
(Not valid after: xxxx).

�� After this date the racing shells may never 
again be used in a vehicle.

Homologation sticker

Danger

There is a danger to life if a racing shell that 
has been involved in an accident is used! 

�� Racing shells that have been subjected to the 
stresses of an accident (racing accident or col­
lision) must no longer be used. 

�� Make sure that the damaged racing shell will 
not be put back into a vehicle.

5.	 Cleaning and care
Notice

The following cleaning and care suggestions 
are non-binding instructions. RECARO as-
sumes no liability for these suggestions.

�� Follow the instructions for using the particular 
care or cleaning agent.

�� First test the effects of a care or cleaning agent 
in an inconspicuous place before you treat the 
entire seat with the agent in question.

5.1.	 Cleaning the cover

Basic cleaning
�� Use a standard dry foam cleaner to clean the 

cover of your RECARO racing shell after it has 
been in use for a long time. This freshens up 
the cover and restores the original shine to the 
colours.

�� Always clean the entire surface and not just indi­
vidual areas. This prevents unattractive edges.

�� Allow the covers to dry for at least 48 hours after 
cleaning.

Removing dirt stains 
�� Remove dirt patches immediately if possible.
�� Clean the cover with a standard commercially 

available dry foam cleaning agent or a mild 
detergent.

�� Avoid vigorous rubbing with aqueous solutions 
as this will roughen the fabric surface.

5.2.	 Cleaning the racing shell

Notice

Solvents can damage the racing shell!
�� Do not use any solvents (e.g. cleaning sol­

vents) to clean the racing shell.
�� Make sure that the racing shell does not come 

into contact with solvents.

�� Use a mild soap solution to clean the racing 
shell. To do this use a moist sponge.



16

FR – Instructions d’utilisation

1.	 Informations générales

1.1.	 Introduction
Avec le baquet sport RECARO, vous avez opté 
pour un baquet sport de haute qualité qui vous 
offre à la fois la sécurité et le confort dans le sport 
automobile. 

1.2.	 Symboles et mots de signalisation
Dans ces instructions, on utilise les symboles et 
mots de signalisation suivants:

Danger

Ici menace un danger immédiat qui conduit à de 
graves blessures ou à la mort.

Avertissement

Ici menace une situation de danger possible qui 
peut conduire à de graves blessures ou à la mort.

Attention

Ici menace une situation potentiellement 
dangereuse qui peut conduire à des blessures 
légères ou bénignes ou à des dommages 
matériels. 

Indication

Absolument tenir compte des indications!
En cas de non-respect, les dangers suivants 
existent:
•• Détérioration du produit ou de l'environnement 

du produit
•• Limitation de la fonctionnalité du produit
•• Limitation ou perte de la sécurité du produit

Indication supplémentaire pour une meilleure 
compréhension

2.	 Consignes de sécurité générales

2.1.	 Exclusion de responsabilité
Dans la mesure légalement admissible, RECARO 
décline toute responsabilité si le baquet sport 
RECARO n’est pas utilisé conformément aux pré­
sentes instructions ou en cas de modification du 
baquet sport ou des équipements.
Toute modification ou mauvaise utilisation du 
baquet sport RECARO entraîne en outre la perte 
des droits à garantie.

2.2.	 Montage correct
Un baquet sport monté de manière non correcte 
peut conduire à d’énormes dangers pour la santé, 
la vie et l’intégrité corporelle en cas de collisions/
accidents.

�� Tenez compte de ces instructions d’utilisation, 
en particulier des consignes de sécurité.

�� Conservez ces instructions d’utilisation pendant 
toute la durée d’utilisation du baquet sport.

�� Mettez ces instructions d’utilisation en perma­
nence à la disposition du personnel spécialisé.

Sommaire

1.	 Informations générales................................... 16

2.	 Consignes de sécurité générales................... 16

3.	 Installation...................................................... 18

4.	 Utilisation........................................................ 20

5.	 Nettoyage et entretien.................................... 20



17

2.3.	 Utilisation conforme
�� Le baquet sport RECARO P1300GT peut être 

utilisé pour le sport automobile uniquement en 
combinaison avec les adaptateurs RECARO ap­
prouvés correspondants 7221391 ou 7308864.

�� Le baquet sport RECARO 1300GT ainsi que 
les adaptateurs RECARO 7221391 et 7308864 
ne disposent d‘aucune ABE (autorisation gé­
nérale de mise en circulation, nécessaire pour 
l‘exploitation dans la circulation routière en 
Allemagne). Les baquets sport et adaptateurs 
ne sont pas admis dans la circulation routière 
dans le cadre du StVZO (règlement relatif à 
l‘admission des véhicules à la circulation rou­
tière, base de la réglementation du droit de la 
circulation routière allemand). 
Les baquets sport et adaptateurs sont exclusive­
ment distribués conçus pour l‘utilisation dans le 
sport automobile.

�� Le baquet sport RECARO P1300GT peut être 
utilisé au maximum aussi longtemps qu‘indiqué 
sur l‘autocollant d‘homologation (Not valid after: 
xxxx).  
Après cette date, les baquets sport et les adap­
tateurs correspondants ne peuvent en aucun 
cas encore être utilisés dans un véhicule. 

�� Les baquets sport RECARO qui ont été exposés 
à des sollicitations occasionnées par un accident 
(accident de course ou collision) ne peuvent plus 
être utilisés.

2.4.	 Qualification du personnel
La pose et la dépose des baquets sport doivent être 
effectués uniquement par le personnel autorisé. 
Ceci vaut également pour la dépose préalable des 
sièges de série qui sont équipés d’un airbag latéral 
dans le siège et/ou de prétensionneurs de ceinture 
pyrotechniques.

2.5.	 Prescriptions de montage
La fixation du baquet sport et de l’adaptateur dans 
le véhicule et les modifications constructives au 
véhicule en découlant doivent être effectuées selon 
les prescriptions de l’ASN (Autorité Sportive Na­
tionale) relevant national ou de la FIA (Fédération 
Internationale de l‘automobile) conformément aux 
stipulations en vigueur dans la version en vigueur 
respective.

2.6.	 Modifications constructives
Les modifications constructives et l’utilisation de 
composants non homologués peuvent mettre la 
sécurité et le bon fonctionnement en danger.

�� Pour le montage du baquet sport RECARO, 
utilisez uniquement des composants d’origine de 
RECARO.

�� Ne modifiez pas le baquet sport, sinon l’homolo­
gation devient caduque.

�� Ne montez aucun accessoire supplémentaire 
(tels que support pour boisson, extincteur, etc.) 
sur le baquet sport.

2.7.	 Risques résiduels
En cas d’utilisation multiple des vis microcapsulées 
fournies, celles-ci peuvent casser ou se détacher. 
De ce fait, le baquet sport peut le cas échéant, 
se détacher de son ancrage en cas d’accident et 
constituer un danger pour l’intégrité corporelle et 
la vie.

�� Utilisez exclusivement les vis microcapsulées 
fournies pour le montage du baquet sport.

�� Utilisez les vis microcapsulées jointes pour un 
seul vissage. 

�� Serrez toutes les vis au couple de serrage indi­
qué.



18

3.	 Installation

Remarque

L'interaction du baquet sport et de l'adaptateur est 
déterminante pour le comportement du système 
d'ensemble du siège. 

�� Montez le baquet sport RECARO P1300GT 
uniquement en combinaison avec les adap­
tateurs RECARO approuvés correspondants 
7221391 ou 7308864. 
Ce n'est qu'ainsi que la sécurité nécessaire est 
donnée en sport automobile.

3.1.	 Positionnement du baquet sport dans le 
véhicule

�� Sélectionnez la position du siège qui est pour 
vous la plus agréable et la plus sûre pour la 
conduite du véhicule: 
vous devez pouvoir embrasser entièrement 
l‘arête supérieure du volant sans devoir soulever 
le dos par rapport au siège. 
Votre genou doit être encore légèrement plié 
lorsque l‘embrayage est entièrement enfoncé.

�� Veillez au montage correct des systèmes de 
retenue et de la cage de protection contre les 
tonneaux (voir instructions de montage du fabri­
cant).

3.2.	 Etendue de la livraison
�� Contrôlez avant le montage que l‘étendue de la 

livraison est complète.

Baquet sport (Illustration A)
(1)	 Baquet sport, 1 pce
(2)	 Coussin de siège arrière, 1 pce
(3)	 Coussin de siège avant, 1 pce
(4)	 Coussins interchangeables, 9 pcs
(5)	 Dispositif auxiliaire de montage, 2 pcs
(6)	 Vis M8x25, 10.9, 4 pcs

Adaptateur 7308864 (Illustration B)
(7)	 Adaptateur, 1 pce
(8)	 Sécurité de transport, 1 pce
(9)	 Levier de réglage longitudinal, 1 pce
(10)	Vis M10x20, 10.9, 4 pcs

Adaptateur 7221391 (Illustration C)
(11)	 Adaptateur, 2 pcs
(12)	Vis M10x20, 10.9, 4 pcs

3.3.	 Déroulement du montage

Vous trouverez les schémas correspon-
dants aux pages 3 à 5. 

Montage de l‘adaptateur dans le véhicule

Remarque

La fixation des adaptateurs dans le véhicule et les 
modifications constructives au véhicule en décou­
lant doivent être effectuées selon les prescriptions 
de l'association de sport automobile nationale 
respective ou de la FIA conformément aux sti­
pulations en vigueur dans la version en vigueur 
respective.

Montage du dispositif auxiliaire de montage 
(Illustration D)

�� Vissez le dispositif auxiliaire de montage (5) des 
deux côtés dans le baquet sport.

Montage de l‘adaptateur dans le véhicule

Adaptateur 7308864 (Illustrations E1, E2)
1.	 Soulevez l‘adaptateur (7) avec la sécurité de 

transport (8) dans le véhicule. Le levier rouge 
de réglage longitudinal (9) doit être tourné vers 
la porte.

2.	 Montez les adaptateurs (7) dans le véhicule 
avec au moins 4 vis M10, classe de résistance 
10.9. 
Couple de serrage: 35 Nm.

3.	 Démontez la sécurité de transport en desserrant 
les 4 vis (10).

Adaptateur 7221391 (Illustration F1)
�� Montez les deux adaptateurs (11) dans le véhi­

cule avec au moins 4 vis M10, classe de rési­
stance 10.9. 
Couple de serrage: 35 Nm.

Montage du baquet sport
1.	 Introduisez le baquet sport avec la tige (13) 

vers l‘avant dans le crochet de l‘adaptateur 
(Illustrations E3 et F2).

2.	 Définissez l‘inclinaison du siège en sélectionnant 
les perçages avant (Illustration G). Fixez 
l‘inclinaison du siège avec 2 vis 
M10x20 (10 ou 12) par côté (Illustration H). 
Ne serrez pas encore les vis à fond!

3.	 Décalez le baquet sport jusqu‘à ce que les 
dispositifs auxiliaires de montage reposent sur 
les adaptateurs (Illustration I).

4.	 Fixez le baquet sport dans la zone arrière avec 2 
vis M8x25 (6) par côté (Illustration H). Ne serrez 
pas encore les vis à fond.



19

Démontage du dispositif auxiliaire de montage 
(Illustration J)

�� Enlevez le dispositif auxiliaire de montage (5) 
des deux côtés du baquet sport (1).

Montage final (Illustration K)
�� Serrez les 8 vis de fixation (6) et (10) ou (12) au 

couple de 23 Nm +2/–3 Nm.

Danger

Danger de graves blessures si le baquet sport 
se détache de son ancrage.

�� Utilisez exclusivement les vis microcapsulées 
fournies pour le montage du baquet sport.

�� Utilisez une seule fois les vis microcapsulées 
jointes. 

�� Serrez toutes les vis au couple de serrage 
indiqué.

3.4.	 Montage de la protection sur le système 
HANS (Illustration N)

Remarque

Détérioration du revêtement du baquet sport 
par le système HANS sans protection!

�� Sans protection HANS en place, il n'y a pas de 
droits à la garantie.

�� Montez la protection (14) fournie d‘usine sur le 
système HANS (15) à l‘aide des bandes Velcro 
autocollantes (16).  
A cet effet, faites passer les bandes de retenue 
du système HANS à travers les ouvertures 
prévues à cet effet de la protection fournie. 

3.5.	 Remplacement/nettoyage du système de 
coussins (Illustrations L et M)

Danger

Danger de graves blessures à cause de cous-
sins incorrectement montés!

�� N'enlevez pas de coussins dans les zones 
prescrites (Illustration M).

�� Dans les zones marquées sur l'illustration M, 
les coussins prévus par RECARO DOIVENT 
être présents à tout moment.

Remarque

Détérioration des baquets sport suite à une 
utilisation inappropriée des coussins!

�� Pour le rembourrage, utilisez uniquement des 
composants d'origine de RECARO.

�� Montez les coussins uniquement aux endroits 
prévus (Illustration L).

Vous trouverez les schémas correspon-
dants à la page 5.  

Remplacement des coussins
Afin d‘adapter le rembourrage du baquet sport aux 
différents besoins et proportions des divers pilo­
tes de course, on propose pour les baquets sport 
RECARO P1300GT des ensembles de coussins 
en différentes tailles. Les coussins montés de série 
peuvent être remplacés dans les zones correspon­
dantes par des coussins plus épais ou plus minces.
1.	 Tirez fortement sur le coussin à remplacer pour 

le détacher de la bande Velcro.
2.	 Remplacez le coussin par le coussin 

correspondant de votre choix.

Nettoyage des coussins
Tous les coussins de siège et autres coussins sont 
amovibles pour le nettoyage ou un regarnissage.

�� Tirez avec vigueur sur les coussins de siège 
et les autres coussins pour les détacher de la 
bande Velcro.

Les coussins de siège et les autres coussins 
peuvent maintenant être simplement nettoyés ou 
remplacés. Pour les indications de nettoyage, voir 
page 20.



20

4.	 Utilisation
Consignes de sécurité avant le départ

Danger

Danger de mort en cas d'utilisation d'un 
baquet sport endommagé pour la conduite! 

�� Contrôlez le baquet sport et l'adaptateur avec 
soin avant chaque utilisation pour détériora­
tions telles que fissures, bosses, enfonce­
ments ou défauts similaires. 

�� Si vous constatez une détérioration, adres­
sez-vous à un atelier spécialisé pour le sport 
automobile.

�� En cas de détériorations pertinentes pour la 
sécurité, remplacez immédiatement le baquet 
sport et assurez que celui-ci ne puisse plus 
être utilisé dans un véhicule.

Danger

Danger de mort en cas d'utilisation d'un 
baquet sport qui n'est plus homologué! 

�� Utilisez les baquets sport au maximum aussi 
longtemps qu'indiqué sur l'autocollant d'homo­
logation (Not valid after: xxxx).

�� Après cette date, les baquets sport ne doivent 
en aucun cas continuer d‘être utilisées dans 
un véhicule.

Autocollant d’homologation

Danger

Danger de mort en cas d'utilisation d'un 
baquet sport qui a subi un accident! 

�� Les baquets sport qui ont été exposés à des 
sollicitations occasionnées par un accident 
(accident de course ou collision) ne peuvent 
plus être utilisés. 

�� Assurez que celui-ci ne puisse plus être utilisé 
dans un véhicule.

5.	 Nettoyage et entretien
Indication

Les suggestions suivantes de nettoyage et 
d'entretien sont des indications sans engage-
ment. RECARO décline toute responsabilité 
quant à ces suggestions.

�� Tenez compte de la notice d’instructions du 
produit de nettoyage ou d'entretien respectif.

�� Testez d'abord le mode d'action d'un produit de 
nettoyage ou d'entretien à un endroit discret du 
siège avant de traiter l'ensemble du siège avec 
le produit concerné.

5.1.	 Nettoyage des garnitures

Nettoyage approfondi
�� Nettoyez le revêtement de votre baquet sport 

RECARO avec une mousse de nettoyage à sec 
usuelle au bout d’une durée d’utilisation prolon­
gée. De la sorte, le revêtement est rafraîchi et 
les couleurs retrouvent leur brillant d’origine.

�� Nettoyez toujours l’ensemble de la surface et 
non pas uniquement certaines parties. Vous 
éviterez ainsi des auréoles inesthétiques.

�� Laissez sécher les revêtements pendant au 
moins 48 heures après le nettoyage.

Elimination de taches de saleté 
�� Enlevez les taches autant que possible immé­

diatement.
�� Nettoyez le revêtement avec une mousse de 

nettoyage à sec usuelle ou un produit de lavage 
pour tissus fragiles.

�� Evitez de frotter intensément avec des solutions 
aqueuses, pour ne pas gratter le tissu.

5.2.	 Nettoyage du baquet sport

Indication

Détérioration du baquet sport par le solvant!
�� N’utilisez pas de solvant pour le nettoyage du 

baquet sport. 
�� Veillez à ce que le baquet sport n'entre pas en 

contact avec de solvant.

�� Nettoyez le baquet sport avec une savonnée 
douce. Utilisez une éponge douce à cet effet.



21

ES – Instrucciones de uso

1.	 Información general

1.1.	 Introducción
Con la adquisición del asiento deportivo RECARO 
se ha decidido por un asiento de primera calidad 
que le ofrece seguridad y comodidad para el depor­
te de motor. 

1.2.	 Símbolos y palabras de señalización
En estas instrucciones se utilizan los siguientes 
símbolos y palabras de señalización:

Peligro

Existe un peligro inmediato que provoca lesiones 
graves o incluso la muerte.

Advertencia

Existe una posible situación peligrosa que puede 
provocar lesiones graves o incluso la muerte.

Atención

Existe una situación posiblemente peligrosa que 
puede provocar lesiones leves o insignificantes o 
daños materiales. 

Nota

Es imprescindible que tenga en cuenta las notas.
En caso de inobservancia existen los siguientes 
peligros:
•• Daños en el producto o en el entorno del pro­

ducto
•• Limitación de la funcionalidad del producto
•• Limitación o pérdida de la seguridad del pro­

ducto

Nota adicional para facilitar la comprensión

2.	 Normas de seguridad generales

2.1.	 Exención de responsabilidad
Si no utiliza su asiento deportivo RECARO siguien­
do las presentes instrucciones o si modifica el asi­
ento deportivo RECARO o alguno de sus compo­
nentes, se excluirá la responsabilidad de RECARO, 
en tanto esté permitido legalmente.
Cualquier modificación o manejo incorrecto del 
asiento deportivo RECARO tendrá además como 
consecuencia la pérdida de cualquier derecho de 
garantía.

2.2.	 Montaje adecuado
Un asiento deportivo montado incorrectamente y de 
forma inadecuada puede provocar peligros consi­
derables para la salud y para la vida en caso de 
colisiones o accidentes.

�� Tenga en cuenta estas instrucciones de uso, 
especialmente las normas de seguridad.

�� Conserve estas instrucciones de uso para la 
totalidad del tiempo de utilización del asiento 
deportivo.

�� Asegúrese de que estas instrucciones de uso 
están en todo momento disponibles para el 
personal especializado.

Índice de contenidos

1.	 Información general....................................... 21

2.	 Normas de seguridad generales.................... 21

3.	 Instalación...................................................... 23

4.	 Operación....................................................... 25

5.	 Limpieza y cuidado........................................ 25



22

2.3.	 Utilización conforme a las normas de uso
�� El asiento deportivo RECARO P1300GT solo 

debe utilizarse para el deporte de motor junto 
con los correspondientes adaptadores 7221391 
o 7308864 RECARO homologados.

�� Para el asiento deportivo RECARO P1300GT 
y para los adaptadores 7221391 y 7308864 
RECARO no existe ningún ABE (permiso ge­
neral de utilización alemán, necesario para la 
circulación por la vía pública en Alemania). La 
utilización de los asientos deportivos y de los 
adaptadores no está permitida en la vía pública 
conforme a la competencia del Código de circu­
lación alemán (StVZO, base para la regulación 
de la reglamentación alemana para la circula­
ción por carretera). 
El asiento deportivo y el adaptador han sido 
concebidos exclusivamente para la utilización en 
el deporte de motor.

�� El asiento deportivo RECARO P1300GT puede 
utilizarse como máximo durante el tiempo que 
se indique en la pegatina de homologación  
(Not valid after: xxxx).  
Después de esta fecha está estrictamente pro­
hibida la utilización de los asientos deportivos 
y de los adaptadores correspondientes en un 
vehículo. 

�� Los asientos deportivos RECARO que hayan 
estado expuestos a cargas debidas a acciden­
tes (accidente en carrera o colisión) no deben 
seguir utilizándose.

2.4.	 Cualificación del personal
El montaje y el desmontaje de los asientos depor­
tivos solo deben realizarse por personal especia­
lizado autorizado. Esto también se aplica para el 
desmontaje de asientos en serie que estén equipa­
dos con airbag lateral en el asiento y/o dispositivo 
pirotécnico tensor del cinturón.

2.5.	 Prescripciones de montaje
La fijación del asiento deportivo y del adaptador en 
el vehículo y las modificaciones constructivas que 
deben realizarse como consecuencia en el vehícu­
lo, deben llevarse a cabo conforme a las especifica­
ciones correspondientes de la asociación nacional 
de deportes de motor (en Alemania: DMSB – aso­
ciación alemana de deportes de motor) o de la 
FIA (Fédération Internationale de l‘Automobile), de 
acuerdo con las disposiciones válidas en su re­
spectiva versión válida (DMSB - Manual del deporte 
automovilístico: véanse las Disposiciones y expli­
caciones generales sobre las reglamentaciones de 
seguridad (grupos FIA y DMSB) 3.3 / FIA - Interna­
tional Sporting Code: véase el apéndice J - art. 253, 
art. 16).

2.6.	 Modificaciones constructivas
Las modificaciones constructivas y la utilización de 
componentes no autorizados pueden poner en peli­
gro la seguridad y la capacidad de funcionamiento.

�� Utilice únicamente componentes originales de 
RECARO para el montaje del asiento deportivo 
RECARO.

�� No modifique el asiento deportivo, ya que de lo 
contrario se extinguirá la autorización.

�� No monte ningún tipo de piezas adicionales 
(como portavasos, extintores, entre otros) en el 
asiento deportivo.

2.7.	 Riesgos residuales
Si los tornillos microencapsulados suministrados 
se utilizan varias veces pueden romperse o aflo­
jarse. Esto puede provocar que, en determinadas 
circunstancias, el asiento deportivo pueda soltarse 
del anclaje en caso de accidente y existe peligro 
para la vida.

�� Utilice para el montaje del asiento deportivo 
únicamente los tornillos microencapsulados 
suministrados.

�� Utilice los tornillos microencapsulados sumini­
strados solo para un único proceso de atornil­
lado. 

�� Apriete todos los tornillos con el par de apriete 
indicado.



23

3.	 Instalación

Nota

La combinación de asiento deportivo y adaptador 
es esencial para el comportamiento del sistema 
completo del asiento. 

�� Monte el asiento deportivo RECARO P1300GT 
solo junto con los correspondientes adaptado­
res 7221391 o 7308864 RECARO homologa­
dos. 
Únicamente de este modo está garantizada la 
seguridad necesaria en deporte de motor.

3.1.	 Posicionamiento del asiento deportivo en 
el vehículo

�� Escoja la posición del asiento más cómoda 
para usted y más segura para la conducción del 
vehículo: 
Deberá poder agarrar el borde superior del aro 
del volante sin tener que levantar la espalda del 
asiento. 
Su rodilla aún debe estar ligeramente doblada 
cuando pise a fondo el embrague.

�� Asegúrese de realizar el montaje correcto de los 
sistemas de retén y de la jaula antivuelco (véase 
las instrucciones de montaje del fabricante).

3.2.	 Volumen de suministro
�� Compruebe la integridad del volumen de sumini­

stro antes de realizar el montaje.

Asiento deportivo (imagen A)
(1)	 Asiento deportivo, 1 ud.
(2)	 Cojín del asiento trasero, 1 ud.
(3)	 Cojín del asiento delantero, 1 ud.
(4)	 Almohadillas intercambiables, 9 uds.
(5)	 Ayuda de montaje, 2 uds.
(6)	 Tornillo M8x25, 10.9, 4 uds.

Adaptador 7308864 (imagen B)
(7)	 Adaptador, 1 ud.
(8)	 Seguro de transporte, 1 ud.
(9)	 Palanca de ajuste longitudinal, 1 ud.
(10)	Tornillo M10x20, 10.9, 4 uds.

Adaptador 7221391 (imagen C)
(11)	 Adaptador, 2 uds.
(12)	Tornillo M10x20, 10.9, 4 uds.

3.3.	 Secuencia de montaje

Los dibujos correspondientes se encuen-
tran en las páginas 3 a 5. 

Montaje de los adaptadores en el vehículo

Nota

La fijación de los adaptadores en el vehículo y 
las modificaciones constructivas que deben reali­
zarse como consecuencia en el vehículo, deben 
llevarse a cabo conforme a las especificaciones 
correspondientes de la asociación nacional de 
deportes de motor o de la FIA, de acuerdo con 
las disposiciones válidas en su respectiva versión 
válida.

Montaje de la ayuda de montaje (imagen D)
�� Enrosque la ayuda de montaje (5) en ambos 

lados en el asiento deportivo.

Montaje de los adaptadores en el vehículo

Adaptador 7308864 (imágenes E1, E2)
1.	 Levante el adaptador (7) con el seguro de 

transporte (8) en el vehículo. La palanca de 
ajuste longitudinal (9) debe señalar hacia la 
puerta.

2.	 Monte los adaptadores (7) en el vehículo 
con al menos 4 tornillos M10, clase de 
resistencia 10.9. 
Par de apriete: 35 Nm.

3.	 Desmonte el seguro de transporte aflojando los 
4 tornillos (10).

Adaptador 7221391 (imagen F1)
�� Monte los dos adaptadores (11) en el 

vehículo con al menos 4 tornillos M10, 
clase de resistencia 10.9. 
Par de apriete: 35 Nm.

Montaje del asiento deportivo
1.	 Fije el asiento deportivo con el pasador (13) en 

la parte delantera en el gancho del adaptador 
(imagen E3 y F2).

2.	 Fije la inclinación del asiento mediante la 
elección de los orificios delanteros (imagen G). 
Fije la inclinación del asiento respectivamente 
con 2 tornillos 
M10x20 (10 o 12) por lado (imagen H). 
Aún no apriete los tornillos.

3.	 Deposite el asiento deportivo hasta que las 
ayudas de montaje estén colocadas sobre los 
adaptadores (imagen I).



24

4.	 Fije el asiento deportivo en la zona trasera 
respectivamente con 2 tornillos M8X25 (6) por 
lado (imagen H). Aún no apriete los tornillos.

Desmontaje de la ayuda de montaje (imagen J)
�� Retire en ambos lados la ayuda de montaje (5) 

del asiento deportivo (1).

Montaje final (imagen K)
�� Apriete los 8 tornillos de fijación (6) y (10) u (12) 

con un par de apriete de 23 Nm +2/–3 Nm.

Peligro

Peligro de sufrir lesiones graves en caso de 
que el asiento deportivo se suelte del anclaje.

�� Utilice para el montaje del asiento deportivo 
únicamente los tornillos microencapsulados 
suministrados.

�� Utilice los tornillos microencapsulados sumini­
strados solo una vez. 

�� Apriete todos los tornillos con el par de apriete 
indicado.

3.4.	 Montaje de la protección en el sistema 
HANS (imagen N)

Nota

Daños en la funda del asiento deportivo 
debido a la ausencia de la protección en el 
sistema HANS.

�� Si no se encuentra montada la protección 
HANS no existe ningún tipo de derecho de 
garantía.

�� Monte la protección suministrada de fábrica (14) 
con la ayuda de las cintas de velcro autoadhesi­
vas (16) en el sistema HANS (15).  
Para ello, introduzca las bandas de retención del 
sistema HANS a través de las aberturas previ­
stas para ello en la protección suministrada. 

3.5.	 Sustitución/limpieza del sistema de al-
mohadillas (imagen L y M)

Peligro

Peligro de sufrir lesiones graves por el monta-
je incorrecto de los acolchados.

�� No retire los acolchados de las zonas especi­
ficadas (imagen M).

�� Las almohadillas previstas por RECARO 
DEBEN estar montadas en todo momento en 
las zonas marcadas en la imagen M.

Nota

Daños en los asientos deportivos por la 
utilización indebida de los acolchados.

�� Utilice solo componentes originales de 
RECARO para el acolchado.

�� Monte los acolchados solo en los lugares 
previstos (imagen L).

Los dibujos correspondientes se encuen-
tran en la página 5.  

Sustitución de las almohadillas
Para adaptar el acolchado del asiento deportivo a 
las diferentes necesidades y proporciones de los di­
ferentes conductores deportivos, se ofrecen kits de 
almohadillas en distintos tamaños para los asientos 
deportivos RECARO P1300GT. Los acolchados 
montados de serie pueden sustituirse en las zonas 
correspondientes por almohadillas más gruesas o 
más finas.
1.	 Retire firmemente la almohadilla que se va a 

sustituir de la cinta de velcro.
2.	 Sustituya la almohadilla con el acolchado 

correspondiente de su elección.

Limpieza de las almohadillas
Todos los cojines de los asientos y las almohadillas 
se pueden extraer para la limpieza o para la reno­
vación del acolchado.

�� Retire firmemente los cojines del asiento y las 
almohadillas de la cinta de velcro.

Posteriormente, los cojines del asiento y las al­
mohadillas se pueden limpiar o sustituir fácilmente. 
Para consultar instrucciones de limpieza, véase la 
página 25.



25

4.	 Operación
Normas de seguridad antes de iniciar la marcha

Peligro

Peligro de muerte en caso de utilización de un 
asiento deportivo dañado durante la conduc-
ción. 

�� Compruebe cuidadosamente antes de cada 
uso si el asiento deportivo y el adaptador pre­
sentan daños como desgarros, golpes, abolla­
duras o defectos similares. 

�� Si detecta la presencia de daños, diríjase a un 
taller especializado en deporte de motor.

�� Si detecta la presencia de daños relevantes 
para la seguridad, sustituya el asiento depor­
tivo inmediatamente y asegúrese de que el 
asiento deportivo dañado no se vuelva a utili­
zar en un vehículo.

Peligro

Peligro de muerte en caso de utilización de 
un asiento deportivo cuya autorización haya 
expirado. 

�� Utilice el asiento deportivo como máximo du­
rante el tiempo que se indica en la pegatina de 
homologación (Not valid after: xxxx).

�� Después de esta fecha está estrictamente pro­
hibida la utilización de los asientos deportivos 
en un vehículo.

Pegatina de homologación

Peligro

Peligro de muerte en caso de utilización de un 
asiento deportivo que haya estado implicado 
en un accidente. 

�� Los asientos deportivos que hayan estado 
expuestos a cargas debidas a accidentes (ac­
cidente en carrera o colisión) no deben seguir 
utilizándose. 

�� Asegúrese de que el asiento deportivo dañado 
no se vuelva a utilizar en un vehículo.

5.	 Limpieza y cuidado
Nota

Las siguientes recomendaciones de limpieza 
y de cuidado son notas no vinculantes. La 
empresa RECARO no acepta ninguna respon-
sabilidad de no seguirse las siguientes reco-
mendaciones.

�� Tenga en cuenta las instrucciones de uso del 
producto de cuidado o de limpieza correspon­
diente.

�� Pruebe primero el efecto del producto de cui­
dado o de limpieza en un lugar poco visible, 
antes de aplicar el producto en cuestión en 
todo el asiento.

5.1.	 Limpieza de la funda

Limpieza a fondo
�� Limpie la funda de su asiento deportivo 

RECARO con un limpiador de espuma seca 
habitual después de un uso prolongado. De este 
modo se renueva la funda y los colores recupe­
ran su luminosidad original.

�� Limpie siempre la superficie completa del asi­
ento y no lo haga por zonas individuales, ya 
que de lo contrario quedarían rebordes en la 
tapicería.

�� Deje que las fundas se sequen durante al 
menos 48 horas después de la limpieza.

Eliminación de manchas 
�� Elimine las manchas de forma inmediata si es 

posible.
�� Limpie la funda con un limpiador de espuma 

seca habitual o con un detergente para ropa 
delicada.

�� Evite frotar fuertemente con soluciones acuosas, 
ya que de lo contrario se formarán bolas en la 
tapicería.

5.2.	 Limpieza del asiento deportivo

Nota

Daños en el asiento deportivo causados por 
disolvente.

�� No utilice disolvente (p. ej. gasolina de lavado) 
para la limpieza del asiento deportivo.

�� Procure que el asiento deportivo no entre en 
contacto con disolvente.

�� Limpie el asiento deportivo con una solución 
jabonosa suave. Utilice para ello una esponja 
húmeda.



26

ZH – 操作说明书

1.	一般信息

1.1.	引言

RECARO 赛车座椅是一款高质量的赛车座椅，这款产
品为赛车运动将安全性和舒适性完美融合。 

1.2.	符号和信号词

本说明书中使用了以下符号和信号词：

危险

其表示会导致重伤和死亡的紧急危险。

警告

其表示可能会导致重伤和死亡的潜在危险情况。

小心

其表示可能会导致轻度或中度受伤或者财产损失的
危险情况。 

提示

务必遵守提示！

如不遵守则存在以下危险：

•• 损坏产品或影响产品环境
•• 产品功能受限
•• 产品安全性受限或丢失

用于帮助理解的额外信息

2.	一般安全提示

2.1.	免责声明

如果未按照本说明书操作您的 RECARO 赛车座椅，
或者对 RECARO 赛车座椅或其安装作出了改动，则 
RECARO 公司在法律允许的范围内不承担相关责任。

任何对 RECARO 赛车座椅作出的改动，或者错误操作
都会导致保修权失效的后果。

2.2.	正确安装

未正确和妥善安装的赛车座椅可能会在发生撞车/事
故的时候导致健康、生命和肢体受到严重危害。

�� 请遵守本操作说明书，特别是安全提示。

�� 请在赛车座椅使用期内妥善保管本操作说明书。

�� 确保专业人员可以随时查阅本操作说明书。

目录

1.	 一般信息......................................................... 26

2.	 一般安全提示.................................................. 26

3.	 安装................................................................ 28

4.	 操作................................................................ 30

5.	 清洁和保养..................................................... 30



27

2.3.	按规定使用

�� 赛车座椅 RECARO P1300GT 仅允许和获得批准使
用的 RECARO 转接件 7221391 或 7308864 组合
用于赛车运动。

�� 赛车座椅 RECARO P1300GT 以及 RECARO 转接件 
7221391 和 7308864 未提供任何 ABE（用于德国
公共道路交通所需的一般使用许可证）。赛车座
椅和转接件不允许用于 StVZO 范围内（基于德国
道路交通法规规定的道路交通许可条例）的公共
道路交通。 
赛车座椅和转接件仅设计用于汽车运动。

�� 赛车座椅 RECARO P1300GT 使用时间最长不得
超过审批标贴上所注明的日期（自以下日期起无
效：xxxx）。  
在过了该日期之后，汽车内部不得继续使用该赛
车座椅及相关转接件。 

�� RECARO 赛车座椅因事故受损（赛车事故或者撞
车），则不得继续使用该赛车座椅。

2.4.	人员资质

仅允许由获得授权的专业人员进行赛车座椅的安装
和拆卸工作。在事先拆卸座椅内配备了侧面气囊和/
或烟火式安全带拉紧器的系列座椅时也同样适用以
上规定。

2.5.	安装规定

汽车中赛车座椅和转接件的固定，以及由此所导致的
汽车结构变更必须按照相应国家汽车运动协会（德
国：DMSB – 德国汽车运动协会）或者 FIA （国际
汽车联合会）的规定符合相应现行有效版本的适用条
例（DMSB - 汽车运动手册：请参见安全条例的一般
条款和声明（FIA 和 DMSB 类）3.3 / FIA - 国际运
动代码：参见附录 J - 第 253 项，第 16 项）。

2.6.	结构改动

结构改动和使用不允许的部件可能会影响安全性和
功能性。

�� 安装 RECARO 赛车座椅时请仅使用 RECARO 原装
部件。

�� 请不要改动赛车座椅，否则许可证失效。

�� 请绝对不要在赛车座椅上加装额外的部件（例
如：杯架，灭火器等）。

2.7.	剩余风险

如果反复使用随供的微囊化螺栓，则可能造成其断
裂或松动。这在某些情况下可能会造成赛车座椅在
发生事故的时候从锚固件中松脱，并导致生命和肢
体受到危险。

�� 安装赛车座椅的时候请仅使用随供的微囊化螺
栓。

�� 随供的微囊化螺栓只允许一次性用于螺栓连接。 

�� 请使用指定的扭矩拧紧所有螺栓。



28

3.	安装

提示

赛车座椅和转接件之间的相互协调决定了整个座椅
系统的性能。 

�� 请仅将赛车座椅 RECARO P1300GT 和获得批准
使用的 RECARO 转接件 7221391 或 7308864 
组合安装。 
只有这样才能够为赛车运动提供必要的安全
性。

3.1.	将赛车座椅定位于汽车中

�� 请选择您觉得最舒适和操作汽车最安全的座椅位
置。 
必须能够在不将靠背从座椅中取出的情况下完全
包绕住转向盘轮圈的上缘。 
完全踩下离合器的时候，您必须能够很轻松的弯
曲膝盖。

�� 请正确安装安全带回拉系统和防滚架（请参见制
造商提供的安装说明书）。

3.2.	供货范围

�� 请在安装之前检查供货范围的完整性

赛车座椅（图 A）

(1)	赛车座椅，1 件

(2)	后置座椅坐垫，1 件

(3)	前置座椅坐垫，1 件

(4)	可更换的胶垫，9 件

(5)	安装辅助件，2 件

(6)	螺栓 M8x25，10.9，4 件

转接件 7308864（图 B）

(7)	转接件，1 件

(8)	运输固定件，1 件

(9)	长度调节杆，1 件

(10)	螺栓 M10x20，10.9，4 件

转接件 7221391（图 C）

(11)	转接件，2 件

(12)	螺栓 M10x20，10.9，4 件

3.3.	安装流程

相关图纸请参见第 3 页至第 5 页。 

在汽车中安装转接件

提示

汽车中转接件的固定，以及由此所导致的汽车结构
变更必须按照相应国家汽车运动协会或者FIA 的规
定符合相应现行有效版本的适用条例。

对安装辅助件进行安装（图 D）

�� 请在赛车座椅两侧拧上安装辅助件 (5)。

在汽车中安装转接件

转接件 7308864（图 E1、E2）

1.	将汽车中带运输固定件 (8) 的转接件 (7) 抬
起。红色的长度调节杆 (9) 必须指向车门。

2.	至少用 4 个 M10 的螺栓将转接件 (7) 安装在汽
车中，螺栓的强度等级为 10.9。 
拧紧扭矩：35 Nm。

3.	通过拧松 4 个螺栓 (10) 将运输固定件拆除。

转接件 7221391（图 F1）

�� 至少用 4 个 M10 的螺栓将两个转接件 (11) 安
装在汽车中，螺栓的强度等级为 10.9。 
拧紧扭矩：35 Nm。

安装赛车座椅

1.	借助销钉 (13) 将赛车座椅挂入转接件挂钩的正
面（图 E3 和 F2）。

2.	选择前面的钻孔来确定座椅倾斜度 （图 G）。每
侧各用 2 个螺栓 M10x20（10 和 12）固定座椅
倾斜度（图 H）。 
不要将螺栓旋紧！

3.	将赛车座椅，直至安装辅助件贴住转接件（图 
I）。

4.	每侧各用 2 个螺栓 M8X25 (6) 将赛车座椅固定
在后方区域内（图 H）。不要将螺栓旋紧。



29

对安装辅助件进行拆卸（图 J）

�� 将赛车座椅 (1) 两侧的安装辅助件 (5) 移除。

最终安装 （图 K）

�� 用 23 Nm +2/–3 Nm 的扭矩拧紧所有 8 个固定
螺栓 (6) 和 (10) 及 (12)。

危险

如果赛车座椅从锚固件中松脱，则会导致重伤的
危险。

�� 安装赛车座椅的时候请仅使用随供的微囊化螺
栓。

�� 随供的微囊化螺栓只允许使用一次。 

�� 请使用指定的扭矩拧紧所有螺栓。

3.4.	在 HANS 系统上安装防护装置（图 N）

提示

如果 HANS 系统没有安装防护装置，则会损坏赛车
座椅蒙皮！

�� 未安装 HANS 防护装置，则不提供任何保修
权。

�� 请使用自粘型尼龙搭扣 (16) 将随供的保护装置 
(14) 安装在 HANS 系统 (15) 上。  
此外，还要将 HANS 系统的回拉式安全带穿过随
供的保护装置上转为此设计的开孔。 

3.5.	更换/清洁座椅胶垫系统（图 L 和 M）

危险

因安装软垫错误导致的严重受伤危险！

�� 不得将上述区域中的软垫取出（图 M）。

�� 图 M 所标记的区域中必须随时安装有 RECARO 
指定的胶垫。

提示

因软垫使用不当而造成的赛车座椅损坏！

�� 安装软垫时请仅使用 RECARO 的原装部件。

�� 请仅将软垫安装在指定位置处（图 L）。

相关图纸请参见第 5 页。

更换胶垫

为了能够根据不同的需求和不同车手的比例对赛车
座椅的软垫安装进行调整，故此为赛车座椅 RECARO 
P1300GT 提供了不同尺寸大小的胶垫套件。在相应的
区域中，可以用较厚或较薄的胶垫来替换该系列标准
安装的软垫。

1.	用力将待更换的胶垫与尼龙搭扣脱开。

2.	请用您所选择的相应的软垫替换胶垫。

清洗胶垫

取出座椅坐垫和胶垫，以便进行清洁或者加装软垫。

�� 用力将座椅坐垫和胶垫与尼龙搭扣脱开。

现在便可以很方便的对座椅坐垫和胶垫进行清洁或者
更换了。清洁提示请参见第 30 页。



30

4.	操作

针对启动开车的安全提示

危险

驾驶汽车的时候如果使用了损坏的赛车座椅则会有
生命危险！ 

�� 请在每次使用之前检查赛车座椅和转接件是
否损坏，例如：裂纹、凸起、凹陷或者类似缺
陷。 

�� 如果确定发生损坏，请将其送往汽车运动专业
修车厂进行维修。

�� 如果存在安全相关的损坏现象，请立即更换赛
车座椅，并确保损坏的赛车座椅不会再被用于
汽车。

危险

使用不再允许使用的赛车座椅会导致生命危险！ 

�� 赛车座椅使用时间最长不得超过审批标贴上所
注明的日期（自以下日期起无效：xxxx）。

�� 在过了该日期之后，汽车内部不得继续使用该
赛车座椅。

审批标贴

危险

使用曾涉及过事故的赛车座椅会导致生命危险！ 

�� 赛车座椅因事故受损（赛车事故或者撞车），
则不得继续使用该赛车座椅。 

�� 确保损坏的赛车座椅不会再被用于汽车。

5.	清洁和保养

提示

以下清洁和保养建议为非强制性提示。RECARO 对这
些建议不承担任何责任。

�� 请遵守相应保养和清洁剂的使用说明书。

�� 请在用相关用剂处理整个座椅之前，首先对不
显眼的位置试验一下这些保养和清洁剂的效果。

5.1.	蒙皮的清洁

基本清洁

�� 请在长期使用之后用市售的干泡沫清洁剂清洁您
的 RECARO 赛车座椅蒙皮。借此可以使蒙皮焕然
一新，并使其颜色恢复原有的亮度。

�� 请始终对整面进行清洁，不要只清洁个别位置。
这样可以避免产生不美观的边缘。

�� 对蒙皮进行清洁之后，至少要进行 48 小时的干
燥。

清除污迹 

�� 尽可能立即清除污迹。

�� 用市售的干泡沫清洁剂或者温和的清洁剂清洁蒙
皮。

�� 请避免用水溶液进行剧烈摩擦，否则会导致蒙皮
材料的粗糙。

5.2.	赛车座椅的清洁

提示

使用溶剂会损坏赛车座椅！

�� 清洁赛车座椅的时候不要使用任何溶剂（例
如：洗净用汽油）。

�� 请注意，赛车座椅不得与溶剂发生接触。

�� 只能够使用温和的皂液清洁赛车座椅。此外，还
要使用湿海绵。



31

JA - 取扱説明書

1.	一般的な情報

1.1.	はじめに

RECAROレーシングシェルによって、あなたは、レー
スでの安全性と快適性を共に提供する高品質レーシ
ングシェルを選択されたのです。 

1.2.	記号および信号語

本書では、以下の記号と信号語が使用されます。

危険

ここでは、重大な傷害や死亡につながる差し迫っ
た危険を示します。

警告

ここでは、重大な傷害や死亡につながる可能性が
ある潜在的に危険な状況を示します。

注意

ここでは、軽傷または物的損害につながる可能性
がある潜在的に危険な状況を示します。 

注記

注記には必ず注意を払ってください。

違反する場合には、以下のリスクがあります。

•• 製品や製品環境の損傷
•• 製品の機能性の制限
•• 製品の安全性の制限または喪失

理解を深めるための追加の注記

2.	総合安全情報

2.1.	免責事項

これらのマニュアルに従ってRECAROレーシングシェ
ルを使用せず、またはRECAROレーシングシェルまた
は取り付けを変更した場合には、RECAROの責任は、
法的に許容される範囲で除外されます。

加えて、RECAROレーシングシェルのあらゆる変更
または不正操作は、保証請求権の喪失を伴うこと
になります。

2.2.	適切な取り付け

適切に取り付けられていないレーシングシェルは、
衝突/事故の際の健康、身体、生命への重大な危険
につながることがあります。

�� この取扱説明書、特に安全情報を確認してくだ
さい!

�� レーシングシェルの使用期間中、この取扱説明
書を保管しておいてください。

�� この取扱説明書に有資格者がいつでもアクセス
できるようにしてください。

目次

1.	 一般的な情報............................................... 31

2.	 総合安全情報............................................... 31

3.	 取付け........................................................... 33

4.	 操作............................................................... 35

5.	 クリーニングとメンテナンス.................. 35



32

2.3.	規定通りの用途

�� レーシングシェルRECARO P1300GTは、RECAROア
ダプタ 7221391または7308864 と共にのみレー
スで使用することができます。

�� レーシングシェルRECARO P1300GT とRECAROア
ダプタ7221391および7308864には、 ABE(ドイツ
の公道で使用するのに必要な一般営業許可）は
ありません。レーシングシェルおよびアダプタ
は、 StVZO (ドイツ道路交通法のための基礎、
道路交通ライセンス規制) の範囲で公道では許
可されていません。 
レーシングシェルとアダプタは、モータースポ
ーツ専用に設計されています。

�� レーシングシェルRECARO P1300GTは、最大限ホ
モロゲーションラベルで指定されている通りに
使用可能です (xxxx以降は無効)。  
この日付け以降、レーシングシェルとその関連
するアダプタは、決して車両上で引き続き使用
することはできません。 

�� 偶発的な負荷(レース事故または衝突) にさらさ
れたRECAROレーシングシェルを引き続き使用す
ることはできません。

2.4.	従業員の資格

レーシングシェルの取り付けおよび取り外しは、正
式に認可された有資格者によってのみ行われるべき
です。これは、座席のサイドエアバッグおよび/ま
たはベルトテンショナーが装備された座席列からの
事前の取り外しにも適用されます。

2.5.	取付け指示

車両におけるレーシングシェルとアダプタの固定、
およびそれに関連する車両の構造の変更は、その時
々のモータースポーツ協会 (ドイツでは:DMSB - ド
イツモータースポーツ協会) 、またはFIA (国際ド
イツ自動車連盟) の仕様に従って、それぞれの有
効な版の法令に基づいて実施する必要があります 
(DMSB - 自動車レースマニュアル: 一般的な用語と
安全への説明(FIA - と DMSB グループ)3.3 /FIA - 
国際スポーツ コード: 付録 J - タイプ253、タイ
プ16 を参照してください)。

2.6.	構造の変更

構造の変更及び承認されていない部品を使用する
と、安全性と操作性を危険にさらすことがありま
す。

�� RECAROレーシングシェルの取り付けに
は、RECAROの純正部品のみを使用してくださ
い。

�� 承認が無効になるため、レーシングシェルを変
更しないでください。

�� (カップホルダー、消火器など)追加パーツを決
してレーシングシェルに取り付けないでくださ
い。

2.7.	残余リスク

付属のマイクロカプセル化されたねじを繰り返し使
用した場合、破損したり緩んだりすることがありま
す。その結果、事情によっては事故でレーシングシ
ェルの固定具が緩み、身体と生命に危険性が生じる
ことがあります。

�� レーシングシェルの取り付けには、付属のマイ
クロカプセル化されたねじのみを使用してくだ
さい。

�� 付属のマイクロカプセル化されたねじは、一
回限りの接続ユニオンとしてのみお使いくださ
い。 

�� すべてのねじを指定トルクで締めます。



33

3.	取付け

注記

レーシングシェルとアダプタの相互作用はシート
の全システムの動作を決定づけるものです。 

�� レーシングシェルRECARO P1300GTは、RECARO
アダプタ 7221391または7308864 と共にのみ
取り付けてください。 
その場合にのみレースに必要な安全性を確保
できます。

3.1.	車両にレーシングシェルを配置する

�� 最も快適で、車両操作に最も安全なシート位置
を選択してください。 
シートの後部を持ち上げることなく、ハンドル
リムのトップを完全に握ることができる必要が
あります。 
クラッチをいっぱいに踏み込んだときに、膝が
少し曲がっている必要があります。

�� レストレイントシステムとロールケージを正し
く取り付けるように注意を払ってください (メ
ーカーの取り付け手順を参照してください)。

3.2.	製品内容

�� 完全を期すために、取り付ける前に製品内容を
確認してください

レーシングシェル（図A）

(1)	レーシングシェル、1個。

(2)	シートクッション　リア、1個。

(3)	シートクッション　フロント、1個。

(4)	交換可能なパッド、9個。

(5)	取付補助具、2個。

(6)	ねじM8x25、10.9、4個。

アダプタ7308864（図B）

(7)	アダプタ、1個。

(8)	輸送用保護具、1個。

(9)	水平調整レバー、1個。

(10)	ねじM10x20、10.9、4個。

アダプタ7221391（図C）

(11)	アダプタ、2個。

(12)	ねじM10x20、10.9、4個。

3.3.	取り付けの順序

添付の図面は、3～5ページで参照してくだ
さい。 

車両内にアダプタを取り付ける

注記

車両へのアダプタの固定とそれに関連した車両の
構造変更は、各国のモータースポーツ連盟または
FIAの規格基準により、それぞれ該当する法令の
現行の規則に従って実施する必要があります。

取付補助具を取り付ける（図D）

�� 取付補助具（5）の両側をレーシングシェルにね
じで留めます。

車両内にアダプタを取り付ける

アダプタ7308864（図E1、E2）

1.	アダプタ（7）を車両の輸送用保護具（8）と共
に持ち上げて下さい。赤い水平調整レバー（9）
をドアの方に向くようにしてください。

2.	アダプタ (7) を、少なくともM10強度クラス
10.9のねじ4個で車両に取り付けてください。 
締付けトルク：35 Nm

3.	4本のネジ（10）を緩めて、輸送用保護具を取り
外します。

アダプタ7221391（図F1）

�� 両側のアダプタ (11) を、少なくともM10強度
クラス10.9のねじ4個で車両に取り付けてくだ
さい。 
締付けトルク：35 Nm

レーシングシェルを取り付ける

1.	アダプタのフロントフックにピン（13）でレー
シングシェルを通します（図E3またはF2）。

2.	フロントの穴 (図G) を選択することによりシー
ト角度を固定します。両サイドのそれぞれの2本
のネジM10x20（10または12）でシート角度を修
正して下さい（図H）。 
ネジを強く締めないでください！

3.	取付補助具がアダプタに乗るまでレーシングシ
ェルを降ろします（図I）。

4.	両サイドのそれぞれ2本のねじ M8X25（6）でレ
ーシングシェルを後方エリアに取り付けます（
図H）。ネジを強く締めないでください。



34

取付補助具を取り外す（図J）

�� レーシングシェル（1）の取付補助具（5）を両
サイドで取り外して下さい。

取り付けの完成（図K）

�� 23 Nm +2/–3 Nmの締付けトルクで8本の固定ね
じ (6)および (10)または (12) すべてを締め
付けます。

危険

レーシングシェルが固定具からはずれることによ
る重傷の危険。

�� レーシングシェルの取り付けには、付属のマ
イクロカプセル化されたねじのみを使用して
ください。

�� 付属のマイクロカプセル化されたねじは、一
回限りでお使いください。 

�� すべてのねじを指定トルクで締めます。

3.4.	HANSシステムに保護カバーを取り付ける(図N)

注記

保護カバーのないHANSシステムによるレーシング
シェルカバーの損傷！

�� HANS保護カバーが取り付けられていない場合
には、保証の請求はできません。

�� 工場出荷時に同梱されている保護カバー (14) 
を、自己粘着ベルクロテープ (16) によって
HANSシステム (15) に取り付けます。  
さらに、HANSシステムの背面のストラップを、
設けられている開口部を通して付属の保護カバ
ーに通します。 

3.5.	パッドシステム (図LおよびM)の交換・クリ
ーニング

危険

パッドを不適切に配置することによる深刻な傷
害の危険!

�� 所定の領域のパッドを取除いてはいけません
(図M) 。

�� 図Mでマークされた領域では、RECAROによって
提供されたパッドを常に取り付けている必要
があります。

注記

パッドの不適切な使用によるレーシングシェルへ
のダメージ!

�� パッド材には、RECAROの純正部品のみを使用
します。

�� 適切なポイントにのみパッドを配置します (
図L)。

添付の図面は、5ページで参照してくださ
い。  

パッドを交換する

レーシングシェルのパッドを様々なレーサーの異な
るニーズおよびプロポーションに合わせるために、
レーシングシェルRECARO P1300GT用に様々なサイズ
のパッドキットを提供しております。標準の内蔵パ
ッドは、該当する範囲で厚いまたは薄いパッドと置
き換えることができます。

1.	交換するパッドをベルクロテープから強く引い
て外します。

2.	パッドをお好みの対応するパッドと交換してく
ださい。

パッドをクリーニングする

クリーニングまたは追加の椅子張りの際には、シー
トクッションとパッドを取り外します。

�� シートクッションとパッドをベルクロテープか
ら強く引いて外します。

こうしてシートクッションとパッドを簡単にクリー
ニングまたは交換することができます。クリーニン
グ指示に関しては、35ページを参照してください。



35

4.	操作

運転を開始する前の安全情報

危険

運転中に損傷したレーシングシェルを使用してい
る場合の生死に関わる危険！ 

�� ご使用の前に、レーシングシェルとアダプタ
の亀裂、へこみ、へこみや同様の欠陥などの
損傷を慎重にご確認ください。 

�� 損傷が見つかった場合は、モータースポーツ
専門のワークショップにお問い合わせくださ
い。

�� セキュリティ関連の損傷がある場合には、す
ぐにレーシングシェルを交換し、破損したレ
ーシングシェルを車両に使用していないこと
を確認してください。

危険

許容範囲外のレーシングシェルを使用する場合の
生死に関わる危険！ 

�� 最大限ホモロゲーションラベルに記載されて
いる通りにレーシングシェルを使用してくだ
さい（XXXX以降は無効）。

�� この日付以降、レーシングシェルは決して車
両上で引き続き使用することはできません。

ホモロゲーションラベル

危険

事故に巻き込まれたレーシングシェルを使用した
場合の生死に関わる危険！ 

�� 偶発的な負荷(レース事故または衝突) にさら
されたレーシングシェルを引き続き使用する
ことはできません。 

�� 破損したレーシングシェルが車両に引き続き
使用されていないことを確認してください。

5.	クリーニングとメンテナンス

注記

次のクリーニングとメンテナンスの提案は、拘束
力のないヒントです。RECAROは、これらの提案に
対して責任を負いません。

�� それぞれのメンテナンスあるいはクリーニン
グ剤の指示に従ってください。

�� 該当する洗剤をシート全体に施す前に、まず目
立たない個所で、メンテナンスあるいはクリー
ニング剤の効果を試してみてください。

5.1.	カバーのクリーニング

基本的なクリーニング

�� 長時間使用した後、RECAROレーシングシェル
のカバーを業務用乾燥泡クリーナーできれいに
します。それによってカバーはリフレッシュさ
れ、色は、元の明るさを取り戻します。

�� 個々の個所だけではなく、常に全領域をクリー
ニングしてください。そうすることで縁が見苦
しくならないようにしてください。

�� クリーニング後少なくとも48時間、カバーを乾
燥させてください。

汚れの除去 

�� できるだけ早く汚れを取り除きます。

�� 業務用乾燥泡クリーナー、または中性洗剤でカ
バーをクリーニングします。

�� カバー生地が粗くなりますので、水溶液で強く
こすらないでください。

5.2.	レーシングシェルのクリーニング

注記

溶剤によるレーシングシェルへのダメージ！

�� レーシングシェルのクリーニングに (ベンジ
ンなどの) 溶剤を使用しないでください。

�� レーシングシェルが溶剤に触れないように注
意してください。

�� レーシングシェルはマイルドな石鹸水でクリー
ニングしてください。これを行うには、湿った
スポンジを使用します。



RECARO Automotive Ltd. & Co. KG
Stuttgarter Straße 73
73230 Kirchheim/Teck
Deutschland

Telefon: +49 7021 93-5000
Telefax: +49 7021 93-5339

E-Mail: info@recaro-automotive.com
Internet: www.recaro-automotive.com ID

.-N
R

.: 
73

10
62

1 
· R

E
V.

: 0
0 

· D
ezember








 2

01
5

R
E

C
A

R
O

®
, P

ol
e 

P
os

iti
on

®
 s

in
d 

re
gi

st
rie

rte
 M

ar
ke

n 
de

r R
E

C
A

R
O

 B
et

ei
lig

un
gs

-G
m

bH
. 

Ä
nd

er
un

ge
n 

in
 T

ec
hn

ik
, F

or
m

, F
ar

be
 u

nd
 D

es
ig

n 
be

ha
lte

n 
w

ir 
un

s 
vo

r. 
Fü

r D
ru

ck
fe

hl
er

 k
an

n 
ke

in
e 

H
af

tu
ng

 ü
be

rn
om

m
en

 w
er

de
n.


